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f(x)=ax® +bx? +cx+d
()L f)=a+b+c+d=0 (1)&EY f(-)=-a+b-c+d=0 ..a+c=0,b+d=0
f(x) =ax® +bx? —ax—b=(x+1)(x-1)(ax+b) L BiF 5,  f'(x)=3ax’ +2bx-a

y=f(X) D7 I T7ORIEL Y, () i3I, X i 1
f'-D=1 f'Q)=-1 f(0)=1
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f'(-)=3a—2b—a=2a-2b=1 .'.béa—% /

f')=3a+2b-a=2a+2b=-1 . b=-a-=
fO)=—b=1 . b=-1

Pz 1Y .'.c=—a,d:—b,béa—%,bé—a—%,bé—l ------ (%)

(2)
(') -x}? = {3ax2 +(2b-x— a}2 =9a’x* + (2b-1)?x? + a? +6a(2b —1)x® — 2a(2b —1)x — 6a*x>
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I :18azjolx4dx+ 2{(2b—1)2 —6a2}jolx2dx+ 2a2'f:dx:18a2{%} + 2{(2b—1)2 —6a2}{%} +2a°%[xJ
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